

Mindy Weiss

03/13/2025 09:00 AM | Install Day 1 03/14/2025 09:00 AM | Install Day 2 03/15/2025 09:00 AM | Event Date 03/15/2025 09:00 AM | install day 3 03/16/2025 09:00 AM | Strike - P0:

Shipping Address:

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Ceremony:					
	Custom Made Fabric Treatment to Create Backdrop for Ceremony	1	\$0.00	Т	\$0.00
			Total Ceremony :		\$0.00
Cocktail Drape					
	Custom Made Fabric Treatment To cover Tent 12'x27' Flat inside and Outside	1	\$5,000.00	Т	\$5,000.00
	Custom Made Fabric Treatment To Cover a tent 50x 80 - walls and ceiling	1	\$18,720.00	Т	\$18,720.00
	Awning For entrance Tent Hand Painted	1	\$0.00	Т	\$0.00
	If we used Velvet Fabric From BLue ranch Tamara Velvet ONly Labor to Get it ready	1	\$4,000.00	Т	\$4,000.00
			Total Cocktail Drape		\$27,720.00
Walk to Cocktail					
	Garden Sofas - Shakespeare Garden - Metal Painted in Off White with Details in Sunset Colors 79"W x 33"L x 31âM M H	1	\$500.00	Т	\$500.00
	Custom Made Cushions in Sunset Colors	1	\$250.00	Т	\$250.00
	Mix and Match Sunset Color Pillows	6	\$0.00	Т	\$0.00
	Custom Made Table cloth For stand up table	5	\$60.00	Т	\$300.00
			Total Walk to Cocktail		\$1,050.00
Cocktails :					
	Mix and Match Pillows in Sunset Colors	1	\$0.00	Т	\$0.00
	Garden Club & Lounge Chairs - Shakespeare Garden - Metal Painted in Off white with Details in sunset Colors	4	\$220.00	T	\$880.00
	24"W x 28"L x 36âM M H				
	Custom Made Cushion in sunset Colors	4	\$150.00	T	\$600.00
	Garden Sofas - Sofa With Awning Painted in Off white With Details in Sunset Colors	4	\$400.00	Т	\$1,600.00

Description		Qtty	Price		Total
	Custom Made Cushions And Awning Custom Covers in Sunset Colors and	4	\$450.00	Т	\$1,800.00
	Garden Sofas - Dahlia Gardens - Inverted Sofa Painted in Off White with Details in sunset Colors 70"W x 23"L x 41"H - Custom Frame & Cushion Color Upon Request	2	\$400.00	Т	\$800.00
	Custom made Covers for Sodas Dahlia Gardens	1	\$120.00	Т	\$120.00
THE	Garden Accent & Coffee Table - Dahlia Gardens - Coffee Table Oval Painted in Off white Color with Details in Sunset Colors 18"W x 36"H - Frame Color Upon Request	12	\$140.00	Т	\$1,680.00
	Garden Accent & Coffee Table - Dahlia Gardens - Accent Painted in Off white With Details in sunset Colors 20"RND x 20"H - Frame Color Upon Request	8	\$110.00	Т	\$880.00
	Garden Dining Chair - Giardino Dell' Iris - Chair Painted Off white with Details in Sunset Colors 23"W x 22"L x 41"H - Custom Frame & Cushion Color Upon Request	20	\$27.00	Т	\$540.00
	Custom Made Cushions for Dining Chairs Giradino Dell' Iris	20	\$25.00	Т	\$500.00
	Custom Made Table Cloth for Stand up table Color TBD	5	\$60.00	Т	\$300.00
	Custom Made Cental Bar 5- 12' Bars 1-8 Bar	1	\$0.00	Т	\$0.00
	Custom Made Barback	1	\$0.00	Т	\$0.00
THE STATE OF THE S	Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro painted in OFf white with Sunset Colors details 42"Diam x 29 1/2"H - Frame Color Upon Request	5	\$165.00	Т	\$825.00
			Total Cocktails :		\$10,525.00
Reception:					
	FAbric Treatment. to Cover Reception area in Stock Green Velvet 600'x 19'H Just Rental of Drape will not be Charge \$11,400 only Steaming and Prepping Fabric	1	\$0.00	Т	\$0.00
	Custom Made Stage Back Drop Different Height Drapes In green to finalized	1	\$0.00	Т	\$0.00
	Buffet And Display Tables - Oval - Multicolor	4	\$500.00	Т	\$2,000.00
	12'W x 48"D x 30"H - Can be custom painted or base covered in fabric				
	New Buffet table oval	1	\$0.00	Т	\$0.00
	Custom Made Table Cloth in Ivory Linen with Stripe Please and Piping 12'x 48"x30"H	5	\$250.00	T	\$1,250.00

Description		Qtty	Price		Total
	Booths - Monaco - Round White Velvet 2pc Set	6	\$600.00	T	\$3,600.00
	Custom Made Booth Cover Ivory Velvet Como	6	\$500.00	Т	\$3,000.00
	Custom Made wood Boxes for Booth Painted in Dark wood Matching Panels Around the Room	6	\$2,500.00	Т	\$15,000.00
	Custom Made Panels For Wall paper 23'x10 Aprox	2	\$0.00	Т	\$0.00
	Custom Made Panels for Around Wall paper To complete 36' x 15'H around the Wall papers painted in Dark Wood	2	\$0.00	Т	\$0.00
	Custom Made Chandeliers 6-5' / 6-48" - 6"-36"	1	\$0.00	Т	\$0.00
	Custom Made Half Round Printed FAbric Shadow Boxes 12' x 16'6"H	3	\$6,200.00	Т	\$18,600.00
	Custom Made Half Round Shadow Boxes 6'x 16'6"	2	\$3,100.00	Т	\$6,200.00
			Total Reception :		\$49,650.00
fter Party					
	Accent Tables - Bucharest - Brass & Mirror 19.25"W x 16.5"D x 24.75"H	4	\$120.00	Т	\$480.00
<u></u>	Small Dining Tables - Antique Brass Round 40"Diam x 30"H	4	\$275.00	T	\$1,100.00
	Dining Chairs - Antique Brass Finish Metal Wishbone Cushion in Custom Color 18" x 18" x 31.5"H	16	\$25.00	T	\$400.00
	Mix and Match Pillows	16	\$0.00	Т	\$0.00
	Dj Booths - Santa Barbara - Moulding - Multicolor 47"W x 25"D x 48"H	1	\$450.00	Т	\$450.00
	Sofas - Toulouse - Love Seat - Green Velvet 01	1	\$250.00	Т	\$250.00
	Sofas - Toulouse - Love Seat - Green Velvet 02 45" x 34" x 36"	1	\$250.00	Т	\$250.00
	Sofas - Venice - Green Velvet 3 7'W x 33"L x 38"h	2	\$300.00	Т	\$600.00

Description		Qtty	Price		Total
	Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	3	\$250.00	T	\$750.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 29"W x 30"L x 37"H	2	\$180.00	Т	\$360.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 1 28"W x 34"L x 39"H	1	\$180.00	T	\$180.00
	Club & Lounge Chairs - Toulouse - Accent Chair - Green Velvet 2 28âN N W28âN N ±37âN N H	1	\$180.00	Т	\$180.00
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 1 30"W x 28"L x 38"H	1	\$180.00	Т	\$180.00
	Club & Lounge Chairs - Toulouse - Club Chair - Green Velvet 2 30"W x 28"L x 36"H	1	\$180.00	T	\$180.00
	Club & Lounge Chairs - Venice Arm Chair Green Velvet 4 32âN N âN X 382âN N âN X 49âN N âN N H	2	\$180.00	Т	\$360.00
	Club & Lounge Chairs - Venice Arm Chair Green Velvet 3 32"W x 33"L x 44"H	2	\$200.00	Т	\$400.00
	Bars - Santa Barbara - Square Molding 8' Painted in Dark Wood 8'x 30"x 42"H	3	\$900.00	T	\$2,700.00
			Total after Party		\$9,420.00
Services					
	installation Day 1	12	\$650.00		\$7,800.00
	installation day 2	12	\$650.00		\$7,800.00
	Installation Day 3	8	\$650.00		\$5,200.00
	Change Over Crew	6	\$500.00		\$3,000.00
	Strike Team	14	\$650.00		\$9,100.00
	Transportation	4	\$475.00		\$1,900.00
	Flame Proofing	1	\$2,500.00		\$2,500.00
	Artist- this price will be adjusted once we finalized details (2 artist painting for a Week	1	\$7,500.00		\$7,500.00
	Pre Production- Painting - Pulling Furniture & Prep Fabric Loading Trucks,etc	1	\$25,000.00		\$25,000.00
	Social media to Be on site	1	\$0.00		\$0.00
	Manager on site	1	\$0.00		\$0.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full

Please ready the contract and sign it

Notes

Total Products: \$98,365.00

Total Labor/Services/Misc: \$69,800.00

Wear & Tear (0.00%): \$0.00 Packing (0.00%): \$0.00

Taxes (tax excempt): \$0.00

Discounts: (\$22,325.00)

Total: \$145,840.00

Payments: (\$0.00) Balance: \$145,840.00